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Note First 15 minutes are allotted for the candidates to read the question
paper.
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Instructions : 2.

1) All questions are compulsory.

i) This question paper has two Parts — Part-4 and Part-B.

i)  Part-A consists of 20 multiple choice questions of one mark each that = 2.
have to be answered on OMR Answer Sheet.

iv)  For Part-A read the question-wise instructions and mark your answer on .

the given OMR Answer Sheet only. Do not erase, cut or use whitener on - 3.
the OMR Answer Sheet after answering. "

v) Marks of the questions are mentioned against them.
vi) Part-B consists of descriptive type questions of 50 marks. '[_‘here are
Descriptive-I, Descriptive-1I and two map related questions in this part. C3

vii)  All the questions of Part-B are to be attempted all at a time.

viii)  Start from the first question and go up to the last question. Do not waste
your time on the question you cannot solve. '

1x) Attach firmly the supplied maps in your answer-book.
X) For visually impaired examinees Question Nos. 9(A) and 9(B) have been -,
given separately for writing answers in lieu of map work.
w|ug - A
PART - A

( agfamedta we )

( Multiple Choice Type Questions )
frdwr : A9 Ru U AR % W% W § 9R fawea U omw g @@ faeew g 39
OMR I T W fafeéd #X

Instruction : Four alternatives are given for each of the following questions.
Choose the correct alternative and mark on OMR answer sheet :

| aite ot feremd @ e R cw a2
fs B) A

(A)
(C) Wi¥ (D) T 1
1. Otto von Bismarck was related to which country ?
(A) Britain (B) Germany
(D) Tltaly |

(C} France

03000/44
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3
ATET ST Y e e g o 2

(C) 1816 (D) 1817

Wh‘?n was Napoleon Bonaparte defeated ?

(A) 1814 (B) 1815

(C) 1816 (D) 1817

frfefaa & | Si=-a1 e gt & fawa ¥ 2

(A) =R B) F

(C) &m (D)  Terem

Which one of the following is a subject of Union List ?

(A) Trade ' - (B) Agriculture

(C) Defence (D) Education

sed g8 A g Frafefea o @ wet fRaa ar 2

(A)  3TRIHI B) TN

(C) 3R D) ¥ A FE T

Where was Bretton Woods institution situated ?

(A) Africa , ' (B) Europe

(C) America (D) None of these

g TRy faE AfueR ¥ Rk o T o ) e s R )
v : .

(A) T F TS (B) =t TR foerh

(C) AR FEw | (D) W@ Tirey

Who said “Swaraj is my birth right and I will have it” ?

(A) Gopal Krishna Gokhale (B) Bal Gangadhar Tilak

(C) Jawaharlal Nehru (D) | Mahatma Gandhi

R & AR # AG FE 2

(A) 2199 (B) 187N

(C) 20 (D) 2599

What is the age of voting right in India ?

(A) 21 ;ywears (B) 18 years
(D) 25 years

(C) 20 years
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7. it wRE sEe 3 sraenst @ s ¥ wiifs 0w
(A) @t arient d amee & agEn 2 2
(B) ®afes Y nfem &) agren 24 3
(C)  (A) 3R (B) 3
(D) 39 9§ 1 =& 1

Democratic administrative system is better than other administrative
systems, because it

~J

(A)  Promotes equality among all citizens
(B) Promotes dignity of the person
(C) Both (A) and (B)

(D) None of these 1
8.  YWRAM I HEN H @G F g o ?

(A) 1885 (B) . 1904

(C) 1857 (D) 1855 1
8. When was Indian National Congress established ?

(A) 1885 (B) 1904

(C) 1857 (D) 1855 1
9. aRa 4 afiree wiwdr feas! o € 7

(A) TH (B) Hw

(C) (A) 3R (B) T (D) T ¥ wE 1
9. Who has residuary powers in India ?

(A) State (B) Union

(C) Both (A) and (B) (D)  None of these 1
10. WRdr d@fau wa @] e 2 |

(A) 15 &I (B) 14 3T

(C) 10 R (D) 26 TR
10. When was the Constitution of India enforced ?

(A) 15th August (B)  14th August

(C) 10th December (D) 26th January




11

12

12.

13.

13.

14.

14.

13,

15.

S

a“ﬁﬁ.mmﬁmﬁfﬁrm‘w&?

A Toaqa

() (B)  afifeen

© _ | (D) IW ww

[: Wthh_ of the following states are the red soils found ?
(A) Gujarat (B) Odisha

(€) Punjsz (D)  Uttar Pradesh
ﬁﬂ%@ﬁr{@ﬁ?mmﬂ?—mma% ?

(A) P (B) R g
(C) UaT ST D) @R A
Which of the following resources is non-conventional ?
(A)  Coal (B) Natural gas
(C) Wind energy : (D)  Mineral oil
frfetfiga & & -7 oy srRIEE F1 T IR 2

(A)  3fifeem (B) U=

(C) dfHeTg (D) few

Which of the following states is main producer of Bauxite ?
(A) Odisha ' (B) Punjab

(C) Tamil Nadu (D) Bihar
frfafea & @ sF-w wifcas @t ¢ 2

(A) AT e (B) HTH®I
(C) HTHN ' (D) Sigen
Which of the following is metallic mineral ?
(A) Limestone (B) Sulphur
(C) Manganese (D) Coal
frefofiad o @ FF-T 99 GEEA T 2
(c) dmn (D) ¥
Which of the following is a bio-resource ?
(A) Iron (B) FiShCl’iCS
(C) Copper (D) Rocks

000/ 44
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16.

16.

17.

17.

18.

18.

19.

19,

Frefotfaa o @ fvg e o Tam sifus sfaee F9 9E 7 @ B & 2
(A) femrm (B) HOT -

(©) ¥ (D) :

In which of the following states is the highest percentage of agricultural
land is under cultivation ?

(A) Mizoram (B) Manipur

(C) Kerala (D) Punjab 1
Frfefaa & & #19-a1 xivifers s 1 wiaem Tt a9 =i ( 1952 ) 5 il
ferar man & 2

(A) 33 (B) 43

€ 23 (D) 31 1

Which one of the following percentages of geographical area has been
determined by the National Forest Policy ( 1952 ) ?

(A) 33 (B) 43

(C) 23 (D) 31 1
mﬁmaﬁq&ﬁﬁmﬁﬁaﬁﬁﬁﬁmm&wmﬁﬁmﬁwﬁaﬁ% 7

(A) wfEwEm (B) 9T

(C)  sieid (D)  dfrenze !

Which of the following countries is in better condition than India from
the view of Human Development ?

(A) Pakistan (B)  Nepal

(C) SriLanka (D) Bangladesh ;
ﬁmﬁahaﬁﬁm-ﬁrﬂﬁhﬁ:wﬁmm%awh A T )

(A) @1 (B) I99 a9y

() vax famim (D) fueimd |

Which of the following activities comes und
(A} Mining (B)
(C) Building construction (D)

€F Primary sector 7

Utensil manufacturing
'I‘ajloring

0300?/44
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20.  SUNIHT JRan sfufrn & 391 o ?

(A) 1990 (B) 1995
(C) 1896 (D) 1999 ]
20.  When was the Consumer Protection Act enacted ?
(A) 1990 (B) 1995
(C) 1896 (D) 1999 ]
gug -
PART - B
( qUTHSE - 1)

( Descriptive -1}
( =1 weAt & S uRE @ 80 it | Aifse )

( Write answers of these questions in about 80 words each. )

1. S @ HIT & GET FROT T 9 7 4
Fqar
T TAWUE | AT F91 WHEA § 7

1. What were the main causes of French Revolution ?
OR
What do you understand by Salt Satyagraha ? 4
2. @ wR Q oifes fsan 3 TG &1 weafaa fvan 2 deiy & fafgu 4
. HYAr
“FHT F WEER Teha= Sl ST €17 59 U &) faaear S 4
2.  How did gender discrimination affected political scenario ? Write briefly.
' 4
OR
“Power-sharing is the soul of democracy.” Discuss briefly. 4
3. @i & W @ i st 4
HYAT
TRt Adeaaw § JuHT & Hee S fadeer sifwe ) 4

$8000/44 [ Turn over
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3. Discuss the mineral conservation.R
o) . |
Discuss the importance of globalization in the economy of India. :
b, 39 N @ faviwened @1 fEa T |
Jqgdl
SRS % T % et T o @ ase A 4
b Discuss the characteristics of Jhum cultivation. 4
OR
Analyse any four causes of consumers’ exploitation. 4
( FutAaTwe - 1)

. ( Descriptive - I1)
( T Wl & IR WS o 150 YRl ° )
( Write answers of these questions in about 150 words each. )
wfeTg RN STRITH ¥ Y T WA ¢ 7 39 Ie @l WIS W U W@
feumuit fefau | 3+3

e
R seieraw W Abaw wem=t & el 9 aRomsl w1 Ieeg St

l1§ + 115 + 1% + 1%
What do you understand by Civil Disobedience Movement ? Give a brief
note on the limitations of this movement. 3+3

OR

Mention any four results of global economic depression on Indian

economy. 13 + 13 + 13 + 11

“RET W T A S X1 T i F et ot et o seerm w1t

3+3
A4qqy

mﬁwwﬁmwm%?wmmwmw ~
¥ IFa wifg | %%';ﬁ:::ri
+2 ¢ ,



0.

l*l

=]

9 825(EZ)

“Indian Union is a quasi-federal structure.” Mention any two factors to

prove it. 3+3

-

OR

What do you understand by Democratic Reformation ? Mention any two

steps to be taken for this. 2+2+2

T I F F A5EE ¢ 2 79 IR & GEEE & H1E IR 37F gEE |
2+4

AU

GO g w1 amavas w6 2 7 9RG o d@ewe FEieE dq $E 9w 39

T - 2+4

What is meant by soil erosion ? Suggest any four measures to solve this

problem. 2+ 4
OR

Why is resource planning necessary ? Suggest any four measures for

resource planning in India. . 2+ 4

’f‘a‘a?ma%aza'emvnwﬁ ? WA $H TR ueeh] @ wftnte e e & 2

2+4
Agar
A EFF F1 ¢ 2 TR favaasd Bt ween Hifg) 2+4
What is the concept of development ? Generally, which factors are
included in it ? 244
OR
What is tertiary sector ? Analyse its characteristics. 2+ 4

03000/44 [ Turn over



825(EZ)

Instruction : Question Nos. 9

o). Frerieifan wrt @ wred & fd T @

ﬁa_w . U9 H@q‘[ g(A] '(:TQHQ(B]
(A) and 9(B) are rel

mﬁqﬁ@ﬁﬁmme|

ated to map.

e i i 3 o 1, L o P €

i)

ii)
i)
iv)

v)

m@qmwm'ﬁm ;+

[

& T el fgamer, 1920 H

+ B
| —

€ T Tl AfeTararer ar gearene g3l 2 2
T8 W ST § HeTe i 3 A Hip AT ;*%
TSI 1 ¢ WH el fhart ¥ T S=Rier fhar 4Tl L+l
o€ T 1, 1929 H AR WA HIUF 1 ATGeeE g1 o1 =

9(A). In the given map of India locate the following places by the symbol ()

with names. For correct mention of name and location 1 1

3’ 3 marks have

been allotted.

i)

03000/44

The place where
September, 1920.

Indian National Congress held its session in

141
2 2
The place where Jallianwala Bagh tragedy took place. L
2 2
The place where Mahatma Gandhi broke the Salt Law. 141
. 2 2
The place in Gujarat where
Peasants held theijr S
Movement. Alvagraha
LI
The place where Indi i P
1an Nationa] Congress held it ;
year of 1920, § session in the
by !
2 2



9(B).

o(A).

.Wwﬁ@ﬁmﬁﬁmwuﬁm

. U A e % ) foret g7 e e

i)

W%ﬁﬂzmﬁﬁgﬂw(m)Aﬁﬁmmm|

V) A S e ey et g A e

V) OETs @) o R e faed g AW aRd|

Instruction : Show the following in the given map of India :

i) One river of North India by symbol [J/] with name.

1i) One thermal power station by symbol € with name.

iiiy  One seaport of eastern coast by symbol A with name.

iv) Any tea producing arca by symbol s with name.

v) . The capital city of Chhattisgarh by symbol ® with name.

(mg&ﬁlﬁﬂuﬁmﬁﬁ%ﬁﬂﬁmﬂﬁﬁmﬁﬁﬁﬁm%mﬁ)

( Only for visually impaired examinees in lieu of Map work )

11 825(EZ)

=

BN |

S SRR

by |-

K= M|

fordat : ﬁmﬁf@ﬁwﬁﬁ?maﬁmgﬁﬂﬂﬁmlmﬁiwmﬂ

hifoTl |

Wmm@mwwgaﬂ?

i) |
; T FA A 7
e et 3 F T A L

o 'W'ﬁmwmmmﬁm%mm?
iv) Wﬂ

iii)

- N =N e v avRrSrerT BT TOTT TTT TRIT ST D

| A 1920ﬁmﬂﬂ@ﬁmmaﬁ1ﬁ¥mmww$ﬂm? 1

1

1



YA). Instruction . Write the answers of the following questions in- vour

11)

1)

answer-book. Do not use the map.
Where did the Indian National Congress hold 1ts session in

September, 1920 2

l
Where did the Jallianwala Bagh incident take place ? I
Where did Mahatma Gandhi break the Salt Law ? ].
Where did peasants hold their Satyagraha Movement in Gujarat ?

l

Where did the Indian National Congress hold its session in 1929 ?

9@ﬁhﬁmwwﬁ%mwﬁmﬁmﬁﬁmwmﬂmm?

iU |

IR YRE $l UF T F1 919 fgu

ot e T faegt i & 1 1 o
WA % Qe 92 W 9 0 T (a=aR) @ A e |
I IR & foa e & A ffgn) 1

G i T & 9

9B). Instruction: Write the answers of the following questons n your

answer-book. Do not use the map.



